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[1 ina box of candies, for are brown, three are white, and two are red
000000 BBBBWWW RR 0O O O B=Brown, W=White,
R=Red[] bl Bernice must enter before Erin.0 0 O OO 0OBc

[1 Carol and Sue always sit together..J [0 I O OO O CSO SC dUI If
Fred participates, then Greg participates.] O O O O F=>G e

[1 David cannot attend unless Pamela also attends.[] [1 [J [

[J D=>P fJ Oranges and limes must be displayed on adjacent
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[1 therefore, thus, hence, then, consequently, as a resultl] (1 [0 [ [
[1 because, since, if, given that, in view of, assume, supposel] [J [ [
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DO0o000dooddooddnd ald The main point of the
passage Is thatl] [0 b Which of the following best states the author
' sconclusion in the passage aboveld [J clJ Which of the following
statements is best supported by the statements above? dLJ Which of
the following best states the author’ smain point? U 0O O 0O O O [
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all Which one of the following is an assumption that, if true, would
support the conclusion in the passage above? b1 Which of the
following most accurately states an assumption that the author must
make insgroupsto advance the argument above? clJ The author
depends upon which of the following to draw his/her conclusion? d
[J On arguing his/her conclusion the author relies ond] [ [ O [
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[1 Which of the following,if true, would most strengthen the
conclusion drawn in the passage above? b[J The argument as it is
presented in the passage above would be most strengthened if which
of the following were true? c1 The conclusion would be more
properly drawn if it were made clear thatl] [0 [ [0 O 100Test [ [
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